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Very slowly

for Milton Babbitt's 90th birthday

(Un)ending Joy
Andrew Toovey (2006)

words adapted from a poem by James Purdy





S  
I

ppp!

  
I

 
3

  
want

  
want


3



A 
I

ppp!

  
I


3  

want

  
want

 
3 

T 
I

ppp!   
I


3

 
want

   
want


3 


I

B

ppp!  
I


3


want

  
want


3


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



S  
to

  
to


3

  
see

  
see


3

  
how



A 
to

  
to


3

 
see

  
see

 
3  

how



T 
to

   
to


3

 
see

   
see


3

 
how

 


to

B

  
to


3


see

  
see

 
3


how


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



S  
how


3

  
snow

  
snow


3

  
falls

  
falls

 
3



A  
how


3

 
snow

  
snow

 
3  

falls

  
falls

 
3 

T
 

how


3

 
snow

   
snow


3

 
falls

   
falls


3




B

 
how

 
3


snow

  
snow


3


falls



On repeat go to bar 35 
(missing out bars 15-34)

 
falls


3


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A little faster
15






And

S

ppp!

 
the

 
snow

 
co


-


And

A

ppp!

 
the

 
snow

 
co


-

T

ppp!




(no words)









































































 

































B

ppp!






(no words)
















































 













 













 
































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




vered

S 
their

 
mouths

 
with

 


vered

A 
their

 
mouths

 
with

 
T 














 



























  



























 














 

















B 















 












































































 















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




i

S 
cy


- - - ca

 
- - - - - -


i

A


cy


- - - ca

 
- - - - - -

T 
































































B 













































 





















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












ress.

S  
Snow

 
falls.




3






ress.

A  
Snow

 
falls.






3






T 







































Snow

 
falls.




3 





B 




























Snow

 
falls.




3 



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